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2B M | A|B|D|E|F | W/[W|L|d|gge B E
2FUKBE| 25 | 88 | 48 | 40 |96 | 50 | 32 | 19 | 81 [1/2”| 70 20 2
3FUKBE| 35 [109| 58 | 50 |12.5| 58 | 39 | 23 | 89 |5/8”| 150 | 20 | 2
4FUKBE| 45 |138| 73 | 65 |12.5| 82 | 44 | 26 [121|5/8”| 300 | 20 2
5FUKBE| 55 [168| 88 | 80 | 15 |110|53.5|33.5|165|3/4”| 500 | 10 | 2
6FUKBE| 65 |[200|110| 90 | 15 |110| 63 | 41 [160|3/4”| 700
7FUKBE| 7= [260|135[125(19.0/130| 80 | 48 [195| 1”7 | 1,000
8FUKBE| 8= [310|160|150(19.0|/140| 91 | 53 |225| 17 | 1,500
2FKB-L | 25 F=110 L=141(Z Dfh~FE=FL) 70 = =
3FKB-4B F=82 L=118(zDft~tix=FLt) % 4SRRI b %2EH = 2
3FKB-L 35 F=106 L=139(% Dfth~FE=FL) 150 | — =
Aa> 7RIV Mt |SFKB-LL F=128 L=174(Z Oth~tiE=Ft) - | =
4FKB-L 45 F=128 L=172(% Oftt~tiE=FL) 300 | — =
5FKB-L | 58 | F=180 L=235(% OftextiA=FLt) 500 | — | —
6FKB-L 65 F=180 L=231(% Dfth~FE=FL) 700 | — =

XAER - WECDVTIRE, FPELLKEET DI EDHDITIDTTTELLEE L, 13



